Table S2. Answer to MIR examination questions.

C3414313214432321334421313241321314
(-4

olo|d|l|[mg|vw|foln|o|la|o|d|(n|m|gs(]jo(n|o|la|lo|d|v|n|s ] |N|[o|l|O|H |y

[ [OB[OB[[B[b||lo|v|w|||V|V|V|O|IR|[N[N|IN|ININ|IN|IN|[N|[N]|0 |0 |00
Pla|ld|d|d|dA|A]|A|dA]|A A | A |A|A]|A A |A|A A |A A |A | A A A | A A | A | A | A ||| [

S I AA sl Gl Gl Eal Rl Kacl Rall Kl Ko B Ral Kol Kol I Kl el Rl Ko LB Aol KOTR I Rl Rl ol Al Rl A Al KO Rl KN KN Rl A
(-4

N[t |n|lo|N|[o|Oo|O|ld (NNl |O|d || |]|O|IN]|O|O|O|d ||| |O]|O|N |0

A|ld|[dA|d|d|d || [N|N[N|N|[N]|N|[N|[N[N|[N|[O|v|jo [ ||| TS| S| S|
9 Rl Eal Bal Bl Bal Bal Bl Bal Bl Bad Bl Bl Bl Rl Bl Bah Bl al bt Bl Bl Bad Bl Bl Bl Bl Bad Bl Bl Bl Bl Bl Bad Kl Ba B Kl s
A2442134321312411142231424344323432232
(@)

njlolN|lo|lo|Oo|ld N[N |O|d ||| |][OIN][V|d|O|d ||| |]O|IN|[|D ][O |

NI ININ|IN|O [0 [0 |0 |0 |0 |0 |||/ |00|O|O|OCO|O|OC|O|OC|OCO|OC|O ||
2 Al ||| ||| ||
(o
A3232144241242332113411343441214332124
(@)

O |O|O|d | NSO IN][O|O|O|dA NS |ILDIOIN|O|D|IO|Ad|ININDIS|IDIOIN][O]|D|O|HA NN |
N3344444444445555555555666666666677777
(o]
A2233131212434312121142444322314323243
(@)

NN | |ILL|OIN|[O|OD|O|HdA | NN IS |ID]|OIN[O|O|O|A[NIN|IS|IND|OIN|IO|D|O|H|N|NO | |WND]|O]|INS
m Ald|d|d ||| |99 |N|n|N|[N|[N|[N|[N|N[N[N[A[on[on|on|on|od]|on ]|

Question Number CA= Correct Answer
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